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RAILWAY RECRUITMENT BOARDS

RRB NTPC 26th April 2016 Shift 2

Test Date: 26/04/2016
Test Time: 12:30 PM - 2:00 PM
Subject: RRB NTPC Graduate

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 Santosh Trophy is associated with which of the following sports?

A. Cricket
B. Football

Question ID : 9888372897
Status : Answered
Chosen Option : 1

C. Hockey
D. Basket ball

Ans  of 1B
K2
75 3D
X ac

Q.2 T SR A 21:29 AT SIWF SLAL8. (HCF) 8 | Bnd AML8. (LCM) TE|

A. 4872
B. 168
C. 232
D. 4782

Question ID : 9888372932
Status : Not Attempted
Chosen Option : --

Ans X1-B
Ko2c
v 3A
X 4D

Q.3 Which of the following is NOT an application of Fiber optics?

A. Power Generation

Question ID : 9888372914
Status : Answered
Chosen Option : 2

B. Computer Networking
C. Sensors

D. Power Transmission

Ans & 1.D
A
K 3B
Koac
Q.4

Question ID : 9888372987
Status : Answered
Chosen Option : 3
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Ans
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KA
S 20
W 38
Koac

Q.5

Ans

In 1969, who among the following was a part of the crew of spaceflight Apollo-XI?

A. Yuri Gagarin
B. Pete Conrad

C. Alan Shepard
D. Neil Armstrong

Ko1c
X 2B
V30D
5 4A

Question ID : 9888372921
Status : Answered
Chosen Option :3

Q.6

Ans

“Which of the following Newton’s laws of motion can explain why a ball thrown at a wall rebounds?

A. 1 law of motion
B. 27 law of motion
C. 3" ]aw of motion

D. Neither of the laws

1D
v 2c
K53A
X 4B

Question ID : 9888372906
Status : Answered
Chosen Option : 2

Q.7

Ans

Which is the correct ascending order of the given numbers?
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Question ID : 9888372927
Status : Answered
Chosen Option : 4

Q.8

Ans

Karteek is twice as good a foreman as Raju and together they finish a piece of work in 20 days. In how many days will
Raju alone finish the work?

A 40
B. 60
C. 80
D. 50

1A

Question ID : 9888372936
Status : Answered
Chosen Option : 3
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20
W 38
X ac

Q.9 Choose the pair which is related in the same way as the words in the first pair from the given choices.
NESTS : BIRDS :: : LION

A. DWELLING
B. BUSH

C. FOREST

D. DEN

Ans ¢1.D
S2.A
K o3c
X 4B

Question ID : 9888372964
Status : Answered
Chosen Option : 1

a1 The median of the data 1. = = _ is:

b | =
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| e
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Ans

$ XXX

Question ID : 9888372953
Status : Answered
Chosen Option : 4

Q.11 e agasfE fESt (@ THES 5w T E 39 R (1 Geesf @A W o (i 8%
e smefE AR e orsAsf FET wE

“duhelhesaord”
A. SH
B. HL

C.EA
D. AS

Ans & 1.B
K o2c
3 A
F )

Question ID : 9888372976
Status : Not Attempted
Chosen Option : --

Q.12 Tom Hanks is associated with which of the following?

A, Films
B. Sports
C. Music

D. Science
Ans X 1.C
o 2 A
53D
X 4B

Question ID : 9888372902
Status : Answered
Chosen Option : 2
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Q.13 %6 Refe am 996 +m@ Fie e ==l
fFgfs: oriErE wer o39 aaw Sfve o)

FIEE CFTE TS B AT [ mas FET (@9 RfFerst 56 Eg 156 SImEs ST a9
O 97 ATTH T A affEme o

féF Toafe @m firer |

A figfe a7 TR TTAT ey A TR T Kgfea wEe e

B. A3 am Fm@T Sem woy e @ Fgfen wBF wmm am
6 g9 TET LT B

D. e wey, & wmET e

Ans XlC
K20
K 3B
v WY

Question ID : 9888372986
Status : Answered
Chosen Option : 4

Q.14 Which of the following awards is Sachin Tendulkar NOT awarded with?

A. Bharat Ratna

B. Dhyan Chand Award

C. Padma Vibhushan

D. Rajiv Gandhi Khel Ratna

Ans x1-D
v 28
53A
K oac

Question ID : 9888372895
Status : Answered
Chosen Option : 2

Q.15 If the product of two numbers is 2646 and their LCM is 42 then their HCF is:

A 64
B. 26
C. 46
D. 63

Ans ¥1.D
2.
X 3B
X ac

Question ID : 9888372931
Status : Answered
Chosen Option : 1

Q.16 Which out of the following is not a launch vehicle of India for placing satellites in the orbit?

A, PSLV

B. GSAT -8
C. GSLV

D. Ariane SGS

Ans (1.5
X 2c
K53A
540D

Question ID : 9888372922
Status : Answered
Chosen Option : 1

Comprehension:
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Read the following passage and answer the questions based on it.
(i) Vinay, Vinod, Vikas, Vasu, Vaibhav, Varun and Vishal are sitting
around a circle facing at the center.
(i1) Vasu is the third to the right of Vikas.
(iii) Varun is second to the left of Vinay and second to the right of
Vishal.
(iv) Vaibhav is third to the right of Vinod and is not an immediate

neighbor of Varun.
SubQuestion No : 17

Q1 . . i
7 Who is second to the right of Vinod? Question ID : 9888372973

Status : Answered

A. Vaibhav

Chosen Option : 2

B. Vasu
C. Vishal
D. Vikas
Ans B 1A
W20

p Xe

X 4B

Comprehension:

Read the following passage and answer the questions based on it.
(i) Vinay, Vinod, Vikas, Vasu, Vaibhav, Varun and Vishal are sitting
around a circle facing at the center.
(i) Vasu is the third to the right of Vikas.
(i11) Varun is second to the left of Vinay and second to the right of
Vishal.
(iv) Vaibhav is third to the right of Vinod and is not an immediate

neighbor of Varun.
SubQuestion No : 18

P i
Qs Who is third to the left of Varun? Question ID - 90888372071

Status : Answered

A. Vaibhav

Chosen Option : 1

B. Vasu

C. Vishal
D. Vikas
Ans  of 1 A

X 2c

K 3B

F )

Comprehension:
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Read the following passage and answer the questions based on it.

(i) Vinay, Vinod, Vikas, Vasu, Vaibhav, Varun and Vishal are sitting

around a circle facing at the center.

(i1) Vasu is the third to the right of Vikas.

(iii) Varun is second to the left of Vinay and second to the right of

Vishal.

(iv) Vaibhav is third to the right of Vinod and is not an immediate

neighbor of Varun.
SubQuestion No : 19
061 Who is to the immediate right of Vikas?

A. Vinay
B. Vishal
C. Vaibhav

D. Varun
Ans " 1.D

X 2.8
K 3A
W ac

Question ID : 9888372972
Status : Answered
Chosen Option : 4

Q.20 InJan 2016, who among the following was chosen as the new face for Incredible India Campaign?

A. Aamir Khan

B. Amitabh Bachchan
C. Shah Rukh Khan
D. Salman Khan

Ans 4’1_5
Ko2c
53
F )

Question ID : 9888372903
Status : Answered
Chosen Option : 1

Q.21 fie g e =m emm fog Feafd mear sl sl (raan FRefesf ey 36 o e 7@ s
AN THETSIE ST ST Tl CI3( 78 (I 9T e el fite 7@ e Fgfesf ams @@
fefifb/ofis Jfrmeera Sade zoTn T

fFgfs: aemm TrET W e

forenfs:
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C.l o 1 BoW A[Eme
D.1 O Il (FFGE J[ewere o

Ans o 1D
K 2.A
K 3c
K 4B

Question ID : 9888372975
Status : Answered
Chosen Option : 1

Q.22 The length of a diagonal in Cms of a rectangle of length 5 Cm and width 6 Cm is:

A. V61
B. -1
c. W1
D. -1

Question ID : 9888372948
Status : Answered
Chosen Option : 4
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Ans me
Ko2c
/X 3.8
v aA

Q.23 %5 (WRERH fFe S WA W B (Il 8 (FEF PO 1% FE YN FEI O (M6 s A
F© TORT?

A. 2.25
B. 2.01
C.2.75
D. 25

Ans “1,5
K o2c
53D
F

Question ID : 9888372942
Status : Answered
Chosen Option : 1

Q.24 fir. @ 15% Bfete 5100 S 936 T @G| F6 GIET TG @HF BF 15% TS Tel?

A. 6400
B. 6800
C. 7000
D. 6900

Ans " 1.C
K2
V3D
X 4B

Question ID : 9888372941
Status : Not Attempted
Chosen Option : --

Q.2 15 7

5
If Tan 4 =~ and Tan B T then Cos(A4—B)="?

27
425

304
425

&
425

416
425

Ans X' 1.8
& 20D
K 3c
A

D.

Question ID : 9888372951
Status : Answered
Chosen Option :3

Q.26 Fmed Wy azod, ffbTE TE TifTe @A FfTel waRTE Weg e a1 R @)

A. B8 it

B. AOF

C. SNmE

D. 5 (A Om

Ans X" 1A
X 2c
K 3B
v N

Question ID : 9888372893
Status : Answered
Chosen Option : 2

Q.27

Question ID : 9888372923
Status : Answered
Chosen Option :3
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ORI ST T 996 RET FT (T FEE RS [T ©f s

A. IGY (Inertia)

B. ®FEST (Momentum )
C. (GESg  (Magnetism )
D. JERFHT ( Gravity)

Ans x1-D
v 2A
X 3cC
K 4B

Q.28 The variance of a set of data is 169. Then the standard deviation of the data is:
A F13
B 13
C. 69
845

D.
Ans (1,5
S 20
53
Koac

Question ID : 9888372954
Status : Answered
Chosen Option : 3

Q.29 Which among the following is a mismatched pair of religion practiced and its holy book?

A. Islam : Quran

B. Sikhism : Guru Granth Saheb
C. Jainism : Upanishad

D. Christianity : Bible

Ans & 1.D
5 2.A
K 3B
Wvic

Question ID : 9888372900
Status : Answered
Chosen Option : 4

Q.30 faed (FMEG AT 5% FE'T (Golf Caddy) FI=T (NF AT FaAT TT AT?

A. STEGTES DT (Golfer’s Bag) 9@ @ sy
B. A BHE] T ARFTHE FAT

C. STETRIES F19 (Golfer’s Clubs) 9@ g =maay
D. B S&f 3Ahs SeET %54

Ans me
Ko2c
W 38
54N

Question ID : 9888372896
Status : Marked For Review
Chosen Option : 3

Q.31 Interchanging which two signs will make the following equation correct?
42+4+2-3x5=129
A. +and %
B. +and—
C. —and =
D. +and +
Ans X' 1.B
W20
X 3.c
X 4

Question ID : 9888372959
Status : Answered
Chosen Option : 2

Q.32

Question ID : 9888372898
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Which among the following cannot be included among greenhouse gases? Status : Answered

A. Nitrous Oxide Chosen Option : 2

B. Carbon Dioxide
C. Methane
D. Phosphine

Ans ?("1.0
v 20
X 3A
K 4B

.33 g3 1
Q33 Simplify 4(x—1)-3x Question ID : 9888372945
Status : Answered
AL Tx—4 Chosen Option : 4
B Tx+4
c x+4
D x—4

Ans X1 A
K o2c
K 3B
W 40D

Q.34 Which of the following organ does NOT belong to human excretory system?
Question ID : 9888372916

A. Kidneys Status : Answered
B. Ureters Chosen Option : 2

C. Uterus

D. Urethra

Ans ?(1.0
v
X 3.B
54

Comprehension:
Read the data given below and answer the questions based on it.

In the CBSE Board exams last year, 53% passed in Biology, 61% percent passed in English, 60% in Social Studies, 24%
in Biology and English, 35% in English and Social Studies. 27% in Biology and Social Studies and 5% in none.
SubQuestion No : 35

Q.3 If the number of students in the class is 200, how many passed in only one subject?
5 Question ID : 9888372979
A48 Status : Not Attempted
B. 46 Chosen Option : --
C. More than 50
D. Less than 40

Ans x1_c
K 2.A
v &N
K 4D

Comprehension:
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Read the data given below and answer the questions based on it.

In the CBSE Board exams last year, 53% passed in Biology, 61% percent passed in English, 60% in Social Studies, 24%
in Biology and English, 35% in English and Social Studies, 27% in Biology and Social Studies and 5% in none.
SubQuestion No : 36

Qé3 What is the percentage of students who passed in all subjects?

Question ID : 9888372978
Status : Not Attempted
Chosen Option : --

A B
B. 12
T
D. 10

Ans x1_D
W2c
K 3A
X 4B

Comprehension:
Read the data given below and answer the questions based on it.

In the CBSE Board exams last year, 53% passed in Biology, 61% percent passed in English, 60% in Social Studies, 24%

in Biology and English, 35% in English and Social Studies. 27% in Biology and Social Studies and 5% in none.

SubQuestion No : 37
Q 3 ‘What is the ratio of percentage of students who passed in Biology and Social Studies but not English in relation to the

7  percentage of students who passed in Social Studies and English but not Biology? Question ID : 9888372980
A 57 Status : Not Attempted
B Chosen Option : -
C. 45
D. 5.4

Ans flA
X 2D
/X 3B
K oac

Q.38 fis fog fgfe o e g feafy waar s s (raan Rgfesfa ster 36 o fove 2@ awafe
A THETSIE S SEhE T G 718 O a®: SrrE e fie @ mow Fgfest o @@ Question ID : 9888372974
fefife/offts JEmeerE Swe aTr T
s Status : Answered
A g =l T Chosen Option : 4
B. e =3
ferenfs:
I BGA awoE ATt
1. FeaE a3 75 e TR A=)
fagfesf oz @@ frefasfcs s 3f Safits s Af3 1 ke w=a)

A @ s 1 e
B. (@9 faifa | gfeme
C.l 3| I (FEE Yoo o
D.1 g% 1 BoW A[Fme

Ans ?(1-0
Woc
K53A
K 4B

Q.39 B w8 Fo-(e bl o0 FEAl A fBFH 11,000 BT 20% T bwgfH T @ 6 HCH S
FEA, IR G (PP GFE RO SHEl SA T, SR AATEe] 9 Fo w@? Question ID : 9888372940
A 12127.25 Status : Answered
B. 12127.5
C. 12127.75 Chosen Option : 1
D. 12127

Ans X" 1.C
v 28
53D
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F

Q.40 IfNOTEBOOK is coded as REGOLEEN, and SHIRT as XYZBG, then TORN is coded as

A. GZBR
B. GEBN
C. GEBR
D. GOBR

Ans XIB
K 2.A
Ve
F )

Question ID : 9888372958
Status : Answered
Chosen Option : 3

Q.41 Ifsigns —and X, and numbers 3 and 15 are interchanged, what is the value of
3+12+6-4x151s

A20
B. 30
C. 40
D. 50

Ans  of 1 A
S 20
X 3B
X ac

Question ID : 9888372960
Status : Answered
Chosen Option : 1

Q. 42 n December 2015, which of the following was hailed as an important criteria for contesting Panchayat elections in
Haryana?
A. A functional toilet at home
B. Minimum education qualification for women is Class 3 pass
C. Exemption for Non-payment of arrears of electricity bill
D. Exemption for Non-payment of arrears of cooperative banks

Ans X' 1.C
20
3
K 4B

Question ID : 9888372887
Status : Answered
Chosen Option :3

Q.43 figer 7@ SFEE TR TEE JFAE Py Sew aEs T e Fe

AT

B. @F

C. Tt/ A
D. F

Ans ¥1.A
Ko2c
75 3D
K 4B

Question ID : 9888372967
Status : Answered
Chosen Option : 1

Q.44 1 MG 931 AC (@ A BF FAA 25 [/ Sete 20 HEAGH AEA| Fe oAftE Aote AT
TR e @, @ A fde e o 3T fas e, e o i yoE e 18 R
T fifere = AEE? (Rl

A2

5
2=
B 9

c. 2l
9

sl
9

Ans & 1.B
K 2.A
53D
vc

Question ID : 9888372937
Status : Answered
Chosen Option : 1
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Q45 Which of the following is NOT a storage device?

A, Hard Disk
B. CD ROM
C. Flash Drive

D. Modem
Ans X1_A
v 20D
K 3c
K 4B

Question ID : 9888372919
Status : Answered
Chosen Option : 2

Q.46 2015 ST (GHR A GFFEETYH S FFg o TaEfe T ofe @9 a@ AEEE seeE R
T T EEI T @G a3 Rera Samenfs ek fone f e
A, SIEGE S
B. fCa@ad sifear
C. 57 T AAGA TALNES S
D. 7gA AW g% Far

Ans  of 1D
K 2.A
K o3c
K 4B

Question ID : 9888372885
Status : Answered
Chosen Option : 1

Q 47 The cash difference between the selling price of an article at a profit of 2% and 16% is Rs. 3. The ratio of two selling

prices is:

A, 51:58
B. 51:53
C. 57:58
D. 55:58

Ans me
Ko2c
v 3A
X 4B

Question ID : 9888372943
Status : Answered
Chosen Option : 3

Q.48 faE 9% SST (NF SIES T GG (Ao AR G (0@ sTfbte o amite 4 =1 45 BfAG s
Tl 7 92 fored 26 o R AR 5 91 55 ) e uE fuwed fdte (e @rite (N6 P SR
A?

A3 =01 35 R
B. 3 %I 55 ffEG
C. 3 =T 45 B
D. 3 TH[ 15 fifFt

Ans 31D
Ko2c
X 3B
v aA

Question ID : 9888372938
Status : Answered
Chosen Option : 4

Q.49 Among the pairs of rivers given below, which flow in the southern part of India?

A. Krishna and Ganges

B. Kaveri and Godavari

C. Narmada and Tapi

D. Brahmaputra and Yamuna

Ans X' 1.C
v N
53
F )

Question ID : 9888372889
Status : Answered
Chosen Option : 2

Q.50

Question ID : 9888372915
Status : Answered
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Which kind of cell division is used to repair an injury by the body? l

A. Mitosis only

B. Meiosis only

C. Both Mitosis and Meiosis
D. Neither Mitosis nor Meiosis

Ans XlC
W 2A
K 3B
F )

Chosen Option : 1 J

Q.51 ‘Who among the following participated in the ‘Chittagong’ armoury raid as part of freedom movement?

A. Ganesh Joshi

B. Kalpana Chawla

C. Ananta Waddedar
D. Preetilata Waddedar

Ans X' 1A
X 2c
K 3B
W 20D

Question ID : 9888372894
Status : Not Attempted
Chosen Option : --

Q_ 52 Which is the correct inverted sequence (last to first) of Mughal Emperors who ruled the Indian Subcontinent?

A Akbar, Shah Jahan, Aurangzeb, Bahadur Shah IT
B. Aurangzeb, Bahadur Shah II, Shah Jahan, Akbar
C. Bahadur Shah II, Aurangzeb, Shah Jahan, Akbar
D. Akbar , Aurangzeb, Shah Jahan and Bahadur Shah IT

Ans XlB
S 20D
vs3c
F

Question ID : 9888372891
Status : Answered
Chosen Option : 3

Q 53 If “+” denotes “subtraction”, “-” denotes “addition”, “+ denotes “multiplication” and “x>* denotes “division™, which of

the following is the value of the expression
182+91x7+3-1

A 16
B. 24
C. 144
D. 150

Ans XTB
K2
75 3D
Ve

Question ID : 9888372962
Status : Answered
Chosen Option : 4

Q.54 Compute of 1848+231-10=?

A2
B. -2
c 1848
221
D, 1884
221

Ans XTA
Xo2c
v 38

Question ID : 9888372926
Status : Answered
Chosen Option :3
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F )

Q55 Tf SON = 678 and TEN = 948, then STONE =

Ans

A 69797
B. 69734
C. 68784

D. 69764
1A
v 28
53D
X ac

Question ID : 9888372955
Status : Answered
Chosen Option : 2

Q.56 TEE I (W@F AT (CMGIA) I A [HRES W@ TN I W@, o PrfFRvstE wwr @Eebe

Ans

A. SEERE fobEm o
B. SIFERA S (T

c. e forbm omiEe, IF fwel oF BiEREET w1 9% srE 9F SrEs (|

D. SWEARE 472 AF-SBEIE (o1

vic
K2
53D
X 4B

Question ID : 9888372912
Status : Answered
Chosen Option : 1

Q57 Compute of 29292 <9999 =7

Ans

A. 222890708
B. 298290708
C. 292809708
D. 292890708

X c

K 2.A

K 3B

W 20

Question ID : 9888372929
Status : Answered
Chosen Option : 4

Q.58 Which of the following does NOT contribute to sparkling of Diamonds?

Ans

A. Total Internal Reflection

B. High Refractive Index of Diamonds

C. Dispersion

D. Low Refractive Index of Diamonds

So1c
W20
K 3B
F W

Question ID : 9888372908
Status : Answered
Chosen Option : 2

Q 59 About 93% of Tribal women cannot contest for the post of Sarpanch in Rajasthan as they are not educated enough. What

Ans

are the educational qualifications necessary?
A. Minimum Qualification is Class 2
B. Minimum Qualification is Class 5
C. Minimum Qualification is Class 7
D. Minimum Qualification is Class 10

v EN:
X 2.D

Question ID : 9888372901
Status : Answered
Chosen Option : 1
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253
Koac

Q 60 Urbanization and unsustainable development in India raised several environmental concerns but NOT one among the

following: Question ID : 9888372899

A. Deforestation Status : Answered
B. Seil degradation
C. Depletion of natural resources

Chosen Option :3

D. Erratic monsoon

Ans x1-B
v 20
X 3c
K 4A

Q.61 = T §fS ufox ey A T, GO e oR 9F% F A FAE A6 G FeaE W

CF S Rl BT Fae Question ID : 9888372966
HILL : MOUNTAIN :: STREAM : Status : Answered

A. CANAL P

B. GLACIER Chosen Option : 2

C. RIVER

D. DAM

Ans 31D
v 2c
K 3B
F

0'62 A water tan has two holes. The 1% hole alone makes the tan empty in 3 minutes and 2*? hole alone makes the tan empty in
5 minutes. If water leaks out at a constant rate, how long in minutes does it take if both the holes together empty the tan? Question ID : 9888372935
Al Status : Answered
B. 2% Chosen Option : 4
e
D. 1]

Ans XTA
X 2c
K 3B
W 4D

Q.63 ILf“+” and “x”signs as well as “3” and “2” are interchanged, which of the one following is correct?

Question ID : 9888372961
Status : Answered

Ad4+2x3=14
B.14+3x2=4
C.4+2x14=3 Chosen Option : 2

D.2+3x%4=14

Ans XTC
v 2A
75 3D
K 4B

Q.64 The mean of the data 3, 10, 10, 4, 7, 10, 5 is: Question ID : 9888372952

Status : Answered

[

8 Chosen Option :3

7
7
39
7

D. s

Ans 31D

0w p
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Ko2c
v 38
X 4A

Q.65 Given w=-2 x=3,y=04&z =—%. Find the value of 2(w1 +x* +y1}.
A. 26
B. -26
.25
D. 28

Ans 31D
Ko2c
W 3A
X 4B

Question ID : 9888372944
Status : Answered
Chosen Option :3

Q 66 Ms Sushmitha borrowed Rs. 900 at 6% per annum simple interest. What amount will she pay to clear her debt after 4

years?

A, 261
B. 1161
C. 1116
D. 216

Ans X' 1D
X 2.8
e
F W

Question ID : 9888372939
Status : Answered
Chosen Option :3

Q.67 The number of sides of a regular polyzon whose exterior angles are each 60" is:

A7
B. 5

C. 6
D.8

Ans 31 A
S 2D
e
K 4B

Question ID : 9888372947
Status : Answered
Chosen Option : 3

Q.68 Where in China is the Forbidden City located?

A. Guilin
B. Beijing
C. Shanghai
D. Guanzho
Ans o 1B
X 2c
53D
K 4A

Question ID : 9888372904
Status : Answered
Chosen Option : 2

Q.69 Divide Rs. 288 in the ratio 2:3:5:6. The rupees in the respective ratios are given by:

A. 36, 54,91 & 107
B. 36, 54, 89 & 109
C. 36, 54, 90 & 108
D. 36, 55, 89 & 108

Question ID : 9888372933
Status : Answered
Chosen Option : 2
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Ans X' 1D
v oc
K 3B
F

Q.70 Which is the smallest planet in our solar system?

A, Mercury
B. Mars
C. Jupiter
D. Saturn
Ans o 1A

X o2c

75 3.8

K 4D

Question ID : 9888372920
Status : Answered
Chosen Option : 1

Q71 A famous Shiva temple, Pashupatinath is in:

A. Burma
B. Bangladesh
C. Nepal
D. Tibet
Ans 5 1.B

e

53

4D

Question ID : 9888372890
Status : Answered
Chosen Option : 2

Q.72 A newborn human baby is fed with the first secretion called colostrum
from mammary gland. What does colostrum impart?
A. Factors for growth
B. Immunity
C. Sleepiness
D. Nutrition for development

Ans  of 18
K2
X 3cC
S 4D

Question ID : 9888372917
Status : Answered
Chosen Option : 1

Q.73 The order of rotational symmetry of a parallelogram is:

Al
B. 4
C.2
D.oO

Ans x-]_A
v
K 3B

Question ID : 9888372949
Status : Answered
Chosen Option : 2
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F )

Q74 Correct expression of 0.12636 =2

139
1100

B. 1262

1000

139
2200

D. 1.2{5i

10000
Ans  of 1 A

X 2c
X 3.B
540D

Question ID : 9888372928
Status : Answered
Chosen Option : 1

Q.75 Which acid is secreted by certain glandular cells in the stomach lining?

A. Hydrochloric
B. Ethanoic
C. Formic
D. Nitric
Ans x 1.D

Xo2c

v 3A

K 4B

Question ID : 9888372909
Status : Answered
Chosen Option : 3

Q.76 IFEEE oI e T fF, A G (ARE) S o A EE A9 Ao FA 96 AHEeT
?

A, AT
B. 3P
c.&fe @M (FIE)

D. St/
Ans X' 1A
v 28
K 3c
F )

Question ID : 9888372968
Status : Answered
Chosen Option : 2

Q.77 Choose the pair which is related in the same way as the words in the first pair from the given choices.
PIGEON : PEACE :: WHITE FLAG :

A. FRIENDSHIP
B. VICTORY

C. SURRENDER
D. WAR

Ans XTA
X 2.8
Ve
X 4D

Question ID : 9888372965
Status : Answered
Chosen Option : 3

Q 78 To enlarge their hold over India, many wars were fought between British and Indians but NOT one of the following.

A. Anglo-Maratha
B. Anglo-Sikh

C. Anglo-Mysore
D. Anglo-Bangla

Ans X1 A

Question ID : 9888372892
Status : Answered
Chosen Option : 2
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W20
Ko3c
K 4B

Q.79 Which of the following technique is used to know the age of a tree in years?

A. Counting the number of branches
B. Counting the number of tree rings
C. Measuring the size of the bark

D. Counting the seasons of its flowering

Ans  of 1B
K 2.A
K 3c
F )

Question ID : 9888372910
Status : Answered
Chosen Option : 1

Q 80 The Government of India in the Month of November 2015 decided to allow foreign portfolio investors (FPIs) to increase
stakes in local defence units to 49%. What was the earlier permissible rate?

A. 10%
B. 16%
C.25%
D. 24%

Ans X" 1 A
K 2B
W30
Koac

Question ID : 9888372886
Status : Not Attempted
Chosen Option : --

Q.81 Which of the following is used to detect current in a circuit?

A. Galvanometer
B. Anemometer
C. Barometer
D. Lactometer

Ans X1-B
Ko2c
53D
W 4A

Question ID : 9888372907
Status : Answered
Chosen Option : 4

Q82 gplye; 2x+4=x-3.

A7
B. =7
C.o=1
D. 1
Ans & 1.D
X 2c
53
v N

Question ID : 9888372946
Status : Answered
Chosen Option : 4

Comprehension:
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faea GFdt am =6 B9 wo3E w@ Fas w91 FAffadEs g Ay 9wEs 99 95 84&@)
frafafie Gaaflt wga am a7 ¢7F fefe Fa1 798| Sea fom

A= | P Q R S T U

2010|458 | 512 | 418 | 502 | 476 | 492
2011 | 522 | 536 | 472 | 500 | 482 | 523
2012 | 480 | 495 | 464 | 508 | 488 | 518
2013 | 506 | 506 | 428 | 444 | 450 | 534
2014 | 427 | 485 | 422 | 512 | 510 | 458
2015|492 | 488 | 444 | 499 | 512 | 510

SubQuestion No : 83
Q.8 w71 5 WA T 4@ NG Fo wAF FAfos fFes wEe (Fraben JerayT) ?

3 Question ID : 9888372982

A. 494
B. 482 Status : Answered
C. 514 Chosen Option : 1
D. 506

Ans  of 1 A
X 2c
X 3D
X 4B

Comprehension:

fawa Gdt am =6 g wo3m w@ Fas w91 sAffadEs ' ey Ay 9wEs 99 9w 4E@)
ferafafie GFa ga am a7 877 6l Fa1 TasfE Sea fom

AT | P Q R S T U

2010|458 | 512 | 418 | 502 | 476 | 492
2011 | 522 | 536 | 472 | 500 | 482 | 523
2012 | 480 | 495 | 464 | 508 | 488 | 518
2013 | 506 | 506 | 428 | 444 | 450 | 534
2014 | 427 | 485 | 422 | 512 | 510 | 498
2015 | 492 | 488 [ 444 | 499 | 512 | 510

SubQuestion No : 84

Q.8 2014 W Wem T WY MG FA SREERE E WAy, oF T 73w won fie we srfEes Fow
4 TERE TE AR TS TEKT T2 Question ID : 9888372984

A 1% Status : Not Attempted

B. 18%

C. 31% Chosen Option : --
D. 26%

Ans X 1A
W 28
K3c
F )

Comprehension:
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The table below represents the number of Executives
recruited by six different organization over the years.
Read the table and answer the questions based on it.

Organization | P Q R | S T U

2010 458 | 512 | 418 | 502 | 476 | 492
2011 522 | 536 | 472 | 500 | 482 | 523
2012 480 | 495 | 464 | 508 | 488 | 518
2013 506 | 506 | 428 | 444 | 490 | 534
2014 427 | 485 | 422 | 512 | 510 | 498
2015 492 | 488 | 444 | 499 | 512 | 510

SubQuestion No : 85

Q.8 What is the total number of Executives recruited by all the organizations together in the year 2012?
5 Question ID : 9888372983
A, 2864 d
B. 2053 Status : Answere
C. 3042 Chosen Option : 2

D. 2927

Ans X 1A
v 28
K 3D
Xac

Q.86 Compute of 15872/32/4=2 Question ID : 9888372925

Status : Answered
A 142 Chosen Option : 2

B 1984
c. 124

D. 1948

Ans ?(H\
v 2c
X 3B
X 4D

Q.87 Which of the following is NOT based on principle of relationship between volume and pressure of air?
Question ID : 9888372924

A. Fountain pen
Status : Answered

B. Bicycle pump
€. Hand pump Chosen Option : 4

D. Pulley

Ans ?("1.3
K2
X 3c
W 40D

Q 88 A satellite airtime bill costs Rs. 8 for 5 minutes 40 seconds. What is the cost in rupees for 4 minutes 20 seconds? (Round

upto one decimal). Question ID : 9888372934

A6l Status : Answered
B. 6

Chosen Option : 1

C.62

D. 6.3

Ans  of 1 A
X 2c
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X 3.B
540D

Q.89 Tf UPTO is coded as PTUO, how is CANT coded?

A.NCTA
B. ANCT
C. ANTC

D. NTCA
Ans X1-A
v 28
75 3D
X ac

Question ID : 9888372957
Status : Answered
Chosen Option : 2

Q 90 The village ‘Lambanisingi’ is an upcoming tourist attraction where temperature drops to zero or below zero in December
and January. Lambanisingi‘is in:

A. Maharashtra

B. Uttarakhand

C. Andhra Pradesh
D. Haryana

Ans  of 1 C
S 20
/K 3B
F W

Question ID : 9888372888
Status : Not Attempted
Chosen Option : --

Q.91 = 1| Sy qibd ey A b, Fe e o 99T P W FAe (6 Wl FevefE Wy
o s feaft FdeT ww

BACTERIA : ILLNESS::

A. MEDICINE : GERMS
B. CALCIUM : BONE

C. KNIFE : LACERATION
D. FLOOD : DAM

Ans XH\
X 2.D
vsc
K 4B

Question ID : 9888372963
Status : Answered
Chosen Option : 4

Q.92 An assertion and a reason are given below,

Assertion: When velocity is kept constant and wavelength is halved, then the frequency is doubled.
Reason: Velocity = Frequency x Wavelength.
Choose the answer.

A. Both Assertion and Reason are true and Reason is the correct explanation of Assertion.

B. Both Assertion and Reason are true but Reason is not the correct explanation of Assertion.
C. Both Assertion and Reason are false.

D. Assertion is true but Reason is false.

Ans (TA
K 2.8
K 3cC
F )

Question ID : 9888372985
Status : Answered
Chosen Option : 1

Q.93 To pinpoint a Criminal Forensic Department uses the technique called?

A. DNA Editing

B. DNA Splicing

C. DNA Fingerprinting
D. DNA Amplification

Question ID : 9888372913
Status : Answered
Chosen Option : 4
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Ans me
K2
/X 3.8
v

Q94 Computers cannot work without:

A, Scanner
B. Internet
C. Mouse
D. CPU
Ans X1 A

K 2.8

K o3c

o 40D

Question ID : 9888372918
Status : Answered
Chosen Option : 4

Q.95 What is the capital of Syria?

A. Damascus
B. Bahrein
C. Adis Ababa
D. Doha
Ans X 1D

X 2B

v 3A

X ac

Question ID : 9888372905
Status : Answered
Chosen Option : 3

-2

Q.96
Simplify: (27 )7

A. 1/18
B2

C.1/9

D. 18

Ans X1 A
v oc
K 3B
F )

Question ID : 9888372930
Status : Answered
Chosen Option : 2

Q.97 Which of the following is at the second trophic level of a food chain?

A. Grass
B. Rats

C. Snake
D. Eagle

Ans X 1.C
S 2.A

Question ID : 9888372911
Status : Answered
Chosen Option : 3
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W 38
F )

Q.98 TeE Wi fGa w5, A fofy (fFa%) e Few M@ 94 999 FOE 93 Eay 6

AT 2 Question ID : 9888372969
A TS Status : Answered
B. 29T
c. it Chosen Option : 1
D. Fal/ Al

Ans  of 1 A
K 2B
53D
Koac

.99
@ I Sinx= i ,then 1+ Tanw® x = Question ID : 9888372950
3 Status : Answered
Chosen Option : 4

A —

5}

25

B. —

16

C. —

25

25

D. —

9

Ans x1_A
X 2c
X 3B
v N

Q.10 IfLOW is coded as 468, BOW as 768, and SOWS as 3683, then the code of BOWLS is

0 Question ID : 9888372956
A8 Status : Answered
B. 76890 )
Chosen Option : 4
C. 63387
D. 36891

Ans me
Ko2c
X 3B
v WY
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